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CIFA INTERMEDIATE LEVEL 
 

EQUITY INVESTMENTS ANALYSIS 
 
WEDNESDAY: 6 December 2023. Morning Paper. Time Allowed: 3 hours. 
 
Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your 
workings. Do NOT write anything on this paper. 
 
QUESTION ONE 
(a) Explain the following sources of competitive advantage enjoyed by a firm: 
 

(i) Price premium. (2 marks) 
 

(ii) Cost and capital efficiency. (2 marks) 
 

(b) Discuss TWO differences in calculating economic profit from accounting profit as used in Economic Value 
Added (EVA) analysis. (4 marks) 
 

(c) An analyst has gathered the following information for Pambo Ltd. 
• Adjusted net operating profit after tax (NOPAT) is Sh.100 million.   
• Total capital is Sh.700 million. The firm has no debt. 
• Closing share price is Sh.26. 
• Total number of shares outstanding is 30 million. 
• The cost of equity is 14%. 

 
 Required: 

 Calculate the following: 
 

(i) Economic value added (EVA). (2 marks) 
 
(ii) Market value added (MVA). (2 marks) 

 
(d) A financial analyst has gathered the following information relating to Bena Ltd., a firm listed at the securities 

exchange: 
1. The risk free rate of return is 4.5%. 
2. Expected return on the equity market is 14.5%. 
3. The stock beta factor is 1.15. 
4. Dividend just paid recently is Sh.1.72. 

 
The analyst has projected that the current dividend will grow at a high extra-ordinary rate of 12% per annum for 
the next three years.  Thereafter, the dividends will grow at a constant rate of 9% to perpetuity. 

 
Required: 
(i) The cost of equity of Bena Limited. (2 marks) 
 
(ii) The intrinsic value of Bena Ltd.’s share today. (6 marks) 

 (Total: 20 marks) 
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QUESTION TWO 
(a) In relation to technical analysis indicators, explain the following terms: 

 
(i) Support and resistance level. (2 marks) 

 
(ii) Trend line. (2 marks) 

 
(iii) Reversal day. (2 marks) 

 
(b) In relation to equity analysis, examine THREE uses of industry analysis. (6 marks) 

 
(c) Gilead Ltd.’s shares have a retention ratio of 45%, a return on equity of 14%, an earnings per share (EPS) of 

Sh.5.25 and sales per share of Sh.245.54.  The expected growth rate in dividends and earnings is 6.5%.  The 
required return on investment is 11%. 
 
Required: 
Calculate the following: 
 
(i) Price to sales (P/S) multiple. (2 marks) 

 
(ii) Justified price to book value (P/B) multiple. (2 marks) 

 
(iii) Trailing price to earnings (P/E) multiple. (2 marks) 

 
(iv) Justified leading price to earnings (P/E) multiple. (2 marks) 
    (Total: 20 marks) 

 
QUESTION THREE 
(a) Describe how the following factors affect the lack of marketability of a private firm: 

 
(i) Prospect of public offering or sale. (2 marks) 

 
(ii) Information access and reliability. (2 marks) 

 
(iii) Put rights. (2 marks) 

 
(iv) Restrictive transfer. (2 marks) 

 
(b) The value of working capital and non-currents for Mamboleo Ltd. a privately held firm, are Sh.200,000 and 

Sh.800,000 respectively.  The normalised earnings for the year just ended is Sh.100,000.  The discount rate for the 
working capital, non-current assets and intangible assets are 5%, 11% and 12% respectively. The growth rate is 
3%. 
 
Required: 
Estimate the value of the firm using excess earnings method. (6 marks) 
 

(c) William Wanjohi purchased 500 shares of ABC Ltd. at Sh.32 per share.  The shares were purchased at 75% 
margin.  One month later, Wanjohi had to pay interest on the amount borrowed at a rate of 2% per month.  At that 
time, Wanjohi received a dividend of Sh.0.50 per share from ABC Ltd.  Immediately after that he sold the shares 
at Sh.28 per share.  He paid a commission of Sh.10 on the purchase and Sh.10 on the sale of the shares. 
 

 Required: 
 Calculate the investor’s rate of return for the investment for the one month period. (6 marks) 
   (Total: 20 marks) 
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QUESTION FOUR 
(a) Highlight THREE reasons that could make equity investments analysts prefer to use Enterprise Value (EV) to 

Earnings Before Interest, Taxes, Depreciation and Amortisation (EBITDA), that is, (EV/EBITDA) ratio in equity 
valuation. 
  (3 marks) 
 

(b) Analyse TWO strengths of two-stage dividend discount model (DDM) as compared to the constant growth 
dividend discount model (DDM) in equity valuation. (4 marks) 
 

(c) An investor is considering the following equity investments to make in the coming year: 
1. Bidii Ltd. that is currently paying no dividend and will not pay for several years.  Bidii Ltd. is expected to 

begin paying a dividend of Sh.100 four years from now and the dividend is expected to grow at a rate of 
5% thereafter.  The company’s required rate return is 11%. 

 
2. The purchase of Capital City Investments, which has a price to book value (P/B) of Sh.5.00.  The 

required return on equity is expected to be 18%, the market price per share is Sh.25 and the growth rate is 
expected to be 8%.  The investor believes that the share is currently priced at its fair value. 

 
Required: 
(i) The value of Bidii Limited’s share price today. (2 marks) 

 
(ii) The cost of equity the investor should use in the valuation of Capital City Investments. (4 marks) 

 
(d) Fariji Ltd. earned a net profit margin of 20% on revenues of Sh.20 million this year.  Fixed capital investment was 

Sh.2 million and depreciation was Sh.3 million.  Working capital investment equals 7.5% of sales every year.  Net 
income, fixed capital investment, depreciation, interest expense and sales are expected to grow at a rate of 10% per 
annum for the next five years.  After five years, the growth in sales, net income, fixed capital investment, 
depreciation and interest expense will decline to a stable rate of 5% per annum.  The tax rate is 30% and Fariji Ltd. 
has 1 million ordinary shares outstanding and long term debt paying 12.5% interest trading at its par value of 
Sh.32 million.  The weighted average cost of capital (WACC) is 18% during the high growth stage and 15% 
during the stable stage. 
 
Required: 
Calculate the value of the firm’s equity using the free cash flow to the firm (FCFF) model. (7 marks) 
  (Total: 20 marks) 

 
QUESTION FIVE 
(a) With respect to market efficiency in equity investment analysis: 

 
(i) Explain the term “financial market efficiency”. (2 marks) 

 
(ii) Discuss THREE forms of market efficiency. (6 marks) 

 
(b) Wote Traders (WT) produces wood carvings for use in homes.  

The most recent income statement for Wote Trades (WT) is given below: 
                      Sh.  
Revenue   1,500,000 
Cost of goods sold    630,000 
Selling expenses    120,000 
Administrative expenses    330,000 
Operating profit     420,000 
 

 An analyst believes that a new revenue tax of 10% is going to be imposed on the wood carvings.  He also believes 
that the cost of goods sold and selling expenses are a fixed percentage of sales, while administrative expenses are 
fixed.  Wote Traders is expected to pass on the entire cost of the revenue tax to the consumers.  The price elasticity 
of demand for the wood carvings is 0.60. 

 
 Required: 
 Forecast Wote Traders (WT) operating margin for the upcoming year given the anticipated 10% increase in taxes.        

   (6 marks) 
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(c) An investor collects the information relating to the markets and the economy as shown below: 
 

10 year Historical Current Capital market 
expectations 
 

10 year average government 10 year government bond yield 3.8%.  
bond yield  6.2%.   

Average annual equity return 8.2%. Year over year equity return  9.4%.  

Average annual inflation rate 2.8%. Year over year inflation rate 2.6%. Expected annual inflation 3.5%. 

Equity market price to earnings 
(beginning of period) 15.0 times. 

Current equity price to earnings (P/E) 
14.5 times. 

Expected equity market (P/E) 
14.0 times. 

Average annual income return 
2.0%. 

 Expected annual income return 
1.5%. 

Average annual real earnings 
growth rate 6%. 

 Expected annual real earnings 
growth rate 5%. 

 
Required: 
Calculate the expected annual equity return using the Grinold-Kroner model assuming no change in the number of 
shares outstanding. (6 marks) 

   (Total: 20 marks) 
……………………………………………………………………………………… 

www.ch
op

i.c
o.k

e



     CF23 Page 1 
                                                                                                            Out of 4 
 

 
 

CIFA INTERMEDIATE LEVEL 
 

EQUITY INVESTMENTS ANALYSIS 
 
WEDNESDAY: 23 August 2023. Morning Paper. Time Allowed: 3 hours. 
 
Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your 
workings. Do NOT write anything on this paper. 

 
QUESTION ONE 
(a) Highlight THREE reasons why the equity market is important to the economy as a component of the financial 

system. (3 marks) 
 

(b) Outline THREE reasons why preference shares are considered less risky than ordinary shares as a type of equity 
security. (3 marks) 
 

(c) A trainee financial analyst makes the following statement, “No equity investor needs to understand valuation 
models because real-time market prices are easy to obtain online”. 
 

Required: 
Provide TWO criticisms for the above statement in support of the use of valuation models in equity valuation.  
 (4 marks) 
 

(d) Charles John is evaluating Reliant Home Limited. He has gathered the following information: 
 

1. Current free cash flow to the firm (FCFF) is Sh.745 million. 
2. Outstanding number of ordinary shares is 309,390. 
3. The equity beta is 0.90, risk-free rate is 5.04% and equity risk premium is 5.5%. 
4. Before tax cost of debt is 7.1%. 
5. Corporation tax rate is 34%. 
6. Capital structure is 20% debt and 80% equity. 
7. Long-term debt is Sh.518 million. 
8. Growth rate of FCFF is estimated as follows: 

• 8.8% annually in stage 1 from year 1 to 4. 
• 7.4% in year 5, 6.0% in year 6 and 4.6% in year 7. 
• 3.2% in year 8 and thereafter. 

 
 Required: 
 From the above information, compute the following: 
 

(i) Weighted average cost of capital (WACC). (2 marks) 
 

(ii) Total value of the firm. (4 marks) 
 

(iii) Total value of equity. (2 marks) 
 

(iv) Value per share. (2 marks) 
 (Total: 20 marks) 

 

QUESTION TWO 
(a) Explain THREE limitations of fundamental analysis as used in equity valuation. (6 marks) 

 
(b) Assess the appropriateness of the following alternative methods of issuing equity finance in primary markets: 

 

(i) Placing. (2 marks) 
 

(ii) An offer for sale. (2 marks) 
 

(iii) A public offer for subscription. (2 marks) 
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(c) Joel Mutugi is an equity analyst and is researching the relative valuation of two companies operating in the same 
industry. Joel gathers the following information: 
  Company 
  Mambo Leo Ltd. Zawadi Ltd. 
  (Sh.“million”) (Sh.“million”) 
Market value of debt 50 100 
Book value of debt 52 112 
Cash and investments 5 2 
Net income 49.5 12 
Net income from continuing operations 49.5 8 
Interest expense 3 5 
Depreciation and amortisation 8 4 
Taxes  2 3 
 
Additional information: 
1. The current market price per share for Mambo Leo Ltd. and Zawadi Ltd. are Sh.150 and Sh.100 

respectively. 
2. The current number of outstanding shares for Mambo Leo Ltd. and Zawadi Ltd. is 5,000 shares and 

2,000 shares respectively. 
 
Required: 
Calculate the following: 
 
(i) Price to earnings before interest, tax, depreciation and amortisation (P/EBITDA) for Mambo Leo and 

Zawadi Ltd.   (4 marks) 
 

(ii) Enterprise value (EV) to EBITDA for Mambo Leo Ltd. and Zawadi Ltd.  (4 marks) 
   (Total: 20 marks) 

 
QUESTION THREE 
(a) Explain the following competitive strategies as used in industry analysis: 

 
(i) Defensive competitive strategy.   (1 mark) 

 
(ii) Offensive competitive strategy.   (1 mark) 

 
(iii) Low cost strategy.   (1 mark) 

 
(iv) Differentiation strategy.   (1 mark) 
 

(b) Assess TWO uses of dividend discount model (DDM) in equity valuation.   (4 marks) 
 

(c) Java Ltd. is expecting a Return on Equity (ROE) of 15% over each of the next five years. Its current book value is 
Sh.5.00 per share, it pays no dividends and all earnings are reinvested. The required return on equity is 10%. 
Forecasted earnings in year 1 through year 5 are equal to ROE times beginning book value. 
 
Required: 
(i) Calculate the intrinsic value of the company using the residual income model, assuming that after 5 

years, continuing residual income falls to zero.  (5 marks) 
 

(ii) Calculate the new intrinsic value of Java Ltd. assuming that after year 5 Java Ltd.’s residual income will 
decay over time to zero with a persistence factor of 0.4.  (3 marks) 
 

(iii) Calculate Java Ltd.’s intrinsic value assuming that at the end of year 5, Java Ltd.’s ROE falls to a                 
long-run average level and the price-to-book ratio falls to 1.2.  (4 marks) 
   (Total: 20 marks) 
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QUESTION FOUR 
(a) Discuss THREE implications of the efficient market hypothesis (EMH) to financial market participants. (6 marks) 

 
(b) A financial analyst gathers the following information on Ndika Ltd. 

 
Year 2019 2020 2021 2022 2023(E) 
Earnings per share (Sh.) 4.93 5.25 4.46 5.64 6.00 
Dividends per share (Sh.) 2.45 2.60 2.60 2.75 2.91 
Return on equity (ROE) 13.01% 13.71% 11.58% 14.21% 14.96%  
 
Note: The data for the year 2019-2022 are actual and for the year 2023 are estimated. 
 
The analyst estimates a required return of 15% and forecasts growth of dividends of 6% into perpetuity. Current 
share price is Sh.50. 
 
Required: 
(i) Calculate the trailing price-to-earnings (P/E) as at 1 January 2023 ignoring any business cycle influence. 

   (2 marks) 
 

(ii) Calculate the justified forward P/E using the Gordon growth dividend discount model. (2 marks) 
 

(c) At the beginning of the month of August 2023, KYM Ltd. shares were trading at Sh.52.72. In the previous year, 
KYM Ltd. paid a Sh.1.70 dividend that an equity analyst expects to grow at a rate of 4% annually for the next four 
years. At the end of year 4, the analyst expects the dividend to equal 35% of earnings per share and the trailing 
price to earnings (P/E) for KYM Ltd. to be 13. The required rate of return is 8%. 
 
Required: 
Calculate the price per share value of KYM Ltd. ordinary shares using the Gordon growth model (GGM).   
    (5 marks) 

 
(d) Jane Njoroge has gathered the following information relating to Baringo Stores Ltd. for the year ending                

31 December 2022: 
 
Normalised earnings Sh.185,000  
Estimated value of working capital Sh.300,000 
Estimated value of non current assets Sh.1,200,000 
Required return on working capital 4% 
Required return on non-current assets 12% 
Residual income growth rate 4% 
Discount rate 12% 
 
Required: 
Estimate the value of Baringo Stores Ltd. using excess earnings method (EEM).  (5 marks) 
    (Total: 20 marks) 

 
QUESTION FIVE 
(a) With respect to technical analysis, state the application of the following principles: 

 
(i) Contrary opinion rule.   (1 mark) 

 
(ii) Follow the smart money rule.   (1 mark) 

 
(iii) Momentum indicators.   (1 mark) 

 
(iv) Stock price and volume techniques.   (1 mark) 

 
(b) Describe FOUR stages of the industry life cycle.  (4 marks) 

 
(c) Evaluate TWO drawbacks of price-to-earnings (P/E) ratio in valuation of companies.  (4 marks) 
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(d) The following statement of cash flows is available for Bidii Ltd., a private company: 
 
  Years ending 30 June: 
  2021 2022 2023 
  Sh.“000” Sh.“000” Sh.“000” 
Cash flow from operations: 
Net income 97.52 107.28 118.00 
Plus depreciation 45.00 49.50 54.45 
Increase in accounts receivable (100.00) (10.00) (11.00) 
Increase in inventory  (6.00) (6.60) (7.26) 
Increase in accounts payable                                              50.00                   5.00                   5.50 
Cash flow from operations 86.52 145.18 159.69 
Cash flow from investing activities: 
Purchase of plant, property and equipment 0.00 (50.00) (55.00) 
Cash flow from financing activities: 
Borrowings (repayment) 22.40  24.64 27.10 
Total cash flow 108.92 119.82 131.80 
Beginning cash 0.00 108.92 228.74 
Ending cash 108.92 228.74 360.54 
Notes: 
Cash paid for interest (15.68) (17.25) (18.97) 
Cash paid for taxes (41.80) (45.98) (50.57) 
 
The tax rate for the firm is 30%: 
 
Required: 
Calculate the following: 
 
(i) Free cash flow to the firm (FCFF).    (4 marks) 

 
(ii) Free cash flow to equity (FCFE).    (4 marks) 

   (Total: 20 marks) 
 

…………………………………………………………………… 
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CIFA INTERMEDIATE LEVEL 
 

EQUITY INVESTMENTS ANALYSIS 
 
WEDNESDAY: 26 April 2023. Morning Paper. Time Allowed: 3 hours. 
 
Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your 
workings. Do NOT write anything on this paper. 

 
QUESTION ONE 
(a) Distinguish between the following stages as per the industry life-cycle model:  

 
(i) “Embryonic stage” and “growth stage”. (4 marks) 

(ii) “Shake out stage” and “decline stage”. (4 marks) 
 

(b) Outline FOUR challenges involved with application of valuation standards in valuing private companies.                                        
 (4 marks)   
 

(c) The shares of Sabuni Ltd. are currently being sold at Sh.100 per share at the securities exchange. The firm 
currently yields a 10% book return on equity. At the end of the year, the firm is expected to pay Sh.4 dividend per 
share. It has been re-investing 40% of earnings and growing at a rate of 4% per year.  

The management of Sabuni Ltd. plans to expand the firm gradually over five years in which it will have to          
re-invest 80% of its earnings for five years, however, starting in year 6, it will be able to pay out 60% of its 
earnings. 
 
Required: 
(i) Determine the part of Sh.100 which is attributable to the present value of growth opportunities (PVGO). 

 (4 marks) 

(ii) Calculate the firm’s share price after expansion plan announcement. (4 marks) 
   (Total: 20 marks) 
 
QUESTION TWO 
(a) Outline THREE approaches to industry classifications as used in industry analysis. (3 marks) 

(b) Enumerate THREE key differences between “fundamental analysis” and “technical analysis”. (3 marks) 

(c) John Kiama has been tasked with developing a capital market expectations outlook including expected return on 
domestic equities and expected short term interest rates. He has gathered the following data: 

Table 1: 
 

Economic indicator Value 
Expected dividend yield 1.75% 
Expected inflation rate 1.50% 
Real growth rate 4.00% 
Percentage change in number of shares outstanding 0.50% 
Percentage change in price to earnings ratio -0.75% 
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Table 2: 
 

Economic indicator Value 
Neutral rate 4% 
Forecast inflation rate 7% 
Target inflation rate 3% 
Gross domestic product (GDP) growth rate 0% 
GDP trend growth rate 2% 

Required: 
(i) Using the Grinold - Kroner model, estimate the expected return on domestic equities. (3 marks) 

(ii) Using the Taylor rule, determine the target short term interest rate. (4 marks) 
 

(d) Alice Wanjeri has gathered the following data and assumptions for Karambu Ltd. 
 
Book value per share Sh.45.25 
Market price per share  Sh.126.05 
Constant long term return on equity (ROE)  12% 
Constant long term earnings growth rate  4.50% 
Cost of equity  8.7% 
 
Alice forecasts that the firm’s return on equity (ROE) will be higher than its long term ROE for the first three 
years. The forecasted earnings per share (EPS) and dividends per share (DPS) are shown below: 
 

 Year 1 Year 2 Year 3 
Earnings per share (Sh.) 7.82 8.17 8.54 
Dividends per share (Sh.) 1.46 1.53 1.59 
 
Starting in year 4, she forecasts the firm’s ROE to revert to the constant long term ROE of 12% annually. The 
terminal value is based on an assumption that residual income per share will be constant from year 3 into 
perpetuity. 
 

 Required: 
 Calculate the intrinsic value of the firm using the multistage residual income model. (7 marks) 

 (Total: 20 marks) 
 

QUESTION THREE 
(a) Describe the following market pricing anomalies: 

 
(i) Calendar anomalies. (2 marks) 

(ii) Momentum and overreaction anomalies. (2 marks) 

(iii) Cross-sectional anomalies. (2 marks) 
 

(b) Monica Achieng’ has determined that at the beginning of year 2022, Bill Ltd. had total capital of Sh.324 million of 
which Sh.251 million was debt and Sh.73 million was equity. The company’s cost of debt before taxes is 7% and 
the cost equity capital is 8%. The net operating profit after tax before any adjustment is Sh.28,517,640 while the 
net income before the year is Sh.10,035,000. Monica also notes that the book value per share for Bill Ltd. at the 
beginning of year 2023 was Sh.4.29 and the current market price is Sh.70. She forecasts the return on equity for 
year 2023 to be 11.84%.  
 
The corporate tax rate is 30%. 

Required: 
Calculate the firm’s: 
 
(i) Residual income. (3 marks) 

(ii) Economic value added (EVA) for year 2022. (3 marks) 
 
(iii) Implied residual income growth rate for the year 2023 based on the residual income model. (2 marks) 
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(c) An investor is considering the following three stocks: 
1. Stock A is expected to provide a free cash flow to the firm (FCFF) of Sh.10 per share to perpetuity. 
2. Stock B is expected to earn free cash flow to the firm (FCFF) of Sh.5 per share next year. Thereafter, a 

dividend growth rate is expected to be 4% per annum to perpetuity. 
3. Stock C is expected to earn a FCFF of Sh.5 per share next year. Thereafter, FCFF growth rate is expected 

to be 20% per annum for 5 years and zero growth rate thereafter. 
 
The required rate of return is 10%. 

 
 Required: 
 Determine the most valuable stock. (6 marks) 

    (Total: 20 marks) 
 

QUESTION FOUR 
(a) Summarise FOUR rationales for the use of price to cash flow in equity valuation.  (4 marks) 

 
(b) According to Michael Porter (1998), identify FIVE competitive forces that determine a firm’s ability to earn 

returns on capital in excess of cost of capital. (5 marks) 
 
(c) In the month of March 2022, Brent Ltd., share sold for Sh.73. Security analysts were forecasting a long term 

earnings annual growth rate of Sh.8.5%. The company was paying dividend of Sh.1.68 per share. James Kobia is 
interested in determining the required rate of return for the firm. He comes up with the following scenarios: 
 
Scenario 1:  The dividends are expected to grow along with the earnings at a rate of 8.5% per year in perpetuity. 

Scenario 2: The firm is expected to earn about 12% on book equity and to pay out about 50% of earnings as
  dividends. 
 
Required: 
Calculate: 
 
(i) The rate of return under scenario 1. (2 marks) 

(ii) The rate of return under scenario 2. (3 marks) 
 

(d) Explain THREE methods of underwriting equity agreements. (6 marks) 
     (Total: 20 marks) 
 
QUESTION FIVE 
(a) Analyse the implications of efficient market hypothesis with respect to: 

 
(i) Technical analysis. (2 marks) 

(ii) Fundamental analysis. (2 marks) 

(iii) Portfolio management. (2 marks) 
 

(b) Discuss TWO transactional considerations faced by controlling owner of a closely held business who wishes to 
liquidate his controlling interest. (4 marks) 
 

(c) A minority shareholder holds 10% of a private firm’s equity with the chief executive officer (CEO) holding the 
other 90%.  Using normalised earnings method, the value of the firm’s equity is estimated at Sh.20 million. The 
CEO refuses to sell the firm and the minority shareholder cannot sell their interest easily. A discount for lack of 
marketability (DLOM) of 15% will be applied. Using reported earnings instead of normalised earnings provides an 
estimated firm equity value of Sh.19 million.  
 
Required: 
Calculate the value of the minority shareholders equity interest. (2 marks) 
 

(d) Ujenzi Ltd. generates a return on equity (ROE) of 13% and pays out 50% of its earnings in dividends. The 
required rate of return for the firm is 10%. 
 
Required: 
Calculate the firms franchise price to earnings (P/E) ratio. (4 marks) 
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(e) The management of Maadili Ltd. has announced the signing of a new marketing agreement that will allow the 
company to sell its products in Europe. An equity analyst is analysing the effect of this announcement on the 
estimated value of Maadili Ltd. equity. 
 
The analyst uses the H-Model in his valuation process and has identified the following inputs: 
 
1. Maadili Ltd. Free Cash Flow To Equity (FCFE) growth is expected to be 30% in the year 2023, declining 

over a five-year period to a constant growth rate of 12% in the year 2028 and thereafter. 
2. The required rate of return for the firm is expected to be 13.5%. 
3. The FCFE per share for the year 2022 was Sh.0.20. 
4. The FCFE dividend payout ratio is expected to be constant. 

 
 Required: 

Calculate the estimated value of a share of Maadili’s Ltd.’s equity on 31 December 2022. (4 marks) 
    (Total: 20 marks) 

…………………………………………………………………… 
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CIFA INTERMEDIATE LEVEL 
 

EQUITY INVESTMENTS ANALYSIS 
 
WEDNESDAY: 7 December 2022. Morning Paper. Time Allowed: 3 hours. 
 
Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your 
workings. Do NOT write anything on this paper. 

 
QUESTION ONE 
(a) Explain TWO limitations of industry life cycle models in relation to fundamental analysis. (4 marks) 

(b) Highlight FIVE reasons for increased use of enterprise value multiples in equity valuation. (5 marks) 

(c) The following information relates to Ukunda Ltd.: 
 
1. Earnings per share (EPS) in the year 2021 was Sh.4. 
2. The retention ratio is 70%. 
3. The company expected to earn a return on equity of 16% on its investments. 
4. The required rate of return is 12%. 
5. The dividends are paid at the end of the year. 
 
Required: 
Using Gordon’s constant growth model: 

 
(i) Determine the company’s sustainable growth rate. (2 marks) 

(ii) Estimate the value of the company’s share at the beginning of the year 2022. (3 marks) 

(iii) Calculate the present value of growth opportunities assuming no growth. (3 marks) 
 
(d) Outline THREE methods used to estimate the required rate of return to the private company equity. (3 marks)  
   (Total: 20 marks) 
 
QUESTION TWO 
(a) Highlight FOUR methods that may be used to invest in foreign equities. (4 marks) 

(b) In relation to industry and company analysis, assess THREE generic competitive strategies. (6 marks) 

(c) Jeremy Owuor is preparing a valuation report of Maximum Exports Ltd. He has decided to use a three stage free 
cash flow to equity (FCFE) valuation model and he has made the following estimates: 

1. The FCFE per share for the current year is Sh.1.00. 
2. The FCFE is expected to grow at 10% for next year then at 26% annually for the following three years 

and then at 8% in year 5 and thereafter. 
3. Maximum Exports Ltd. estimated beta is 2.00 and the current market conditions favours a 5% risk free 

rate of return and a 5% equity risk premium. 
 
Required: 
Estimate the value of a share of maximum Export Ltd. (7 marks) 
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(d) A stock has a dividend payout ratio of 40%, return on equity (ROE) of 8.3, an earnings per share of Sh.4.25, sales 

per share of Sh.218.75 and an expected growth rate in dividends and earnings of 5%.  

Shareholders require a return of 10% on their investment. 
 

 Required: 
 Calculate the justified price-to-sales (P/S) multiple based on these fundamentals. (3 marks) 

 (Total: 20 marks) 
 

QUESTION THREE 
(a) George Nyamu has concluded that two stage dividend discount model (DDM) is the most appropriate for valuing 

Blue Energy Ltd. The current dividend paid by the company is Sh.5.00. The analyst wants to value the company’s 
shares using the following approaches separately: 
 
1. The dividend growth rate will be 12% throughout the first stage of four years. The dividend growth rate 

thereafter will be 6%. 
2. Instead of using the estimated stable growth rate of 6% in the second stage, George wants to use his 

estimate that four years later Blue Energy stock will be worth 15 times its earnings per share. He expects 
that the earnings retention ratio at that time will be 0.60. 

3. In contrast to the above approach in which growth rate declines abruptly from 12% in the fourth year to 
6% in the fifth, the growth rate would decline linearly from 12% in first year to 6% in the fifth year.  
 
The current share price is Sh.100.  
 
The required return is 14%. 

 
Required: 
(i) Estimate the present value of the terminal value of the share. (6 marks) 

(ii) Advise whether the investor should purchase the company’s shares using the H-model. (4 marks) 
 
(b) Chris Sifuna of XYZ pension plan has historically invested in the shares of only Kenya-domiciled companies. 

Recently he has decided to add international exposure to the plan portfolio. 

Required: 
In relation to the above statement, explain THREE challenges that Chris Sifuna of XZY pension plan may 
encounter while investing in foreign equity securities.   (6 marks) 
 

(c) An investor gathers the following data estimates for a company from the energy sector. It includes projected 
earnings and dividends over a three year period. The required rate of return of the project is 10%. Average 
dividend payouts rate for mature companies in the market is 0.45. The industry average return on equity is 0.13. 
The earnings per share in year 3 is Sh.4.00. The industry average price earnings ratio is 24.0. 

 
 Required: 
 Estimate the terminal value of the share using the Gordon Growth Model. (4 marks) 

    (Total: 20 marks) 
 

QUESTION FOUR 
(a) The following selected information is gathered from financial records of Oanda Ltd.: 

 
         Amount in Sh.“million” 
 2019 2020 2021  
Net sales  46.8 50.5 53.9 
Operating expenses  19.3 22.5 25.1 
 
An analyst estimates that sales for 2022 will grow at an average annual growth rate in net sales over 2019 – 2021 
period and the year 2022 operating expenses/net sales ratio will be the same as the average ratio over the year 
2019 and 2021 time period. 
 
Required:  

 Estimate the year 2022 operating expenses. (6 marks) 
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(b) Jamal Hassan has gathered the following data for XXT Ltd. for the year ended 30 September 2022: 

     Sh. 
Reported earnings before interest, tax, depreciation and amortisation (EBITDA)  6,700,0000 
Current executive compensation    800,000 
Market based executive compensation  650,000 
Current selling, general and administrative (SG&A) expenses 8,100,000 
SG&A expenses after synergistic savings  7,300,000 
Current lease rate  200,000 
Market based lease rate   250,000 
 
Required: 
Compute the normalised EBITDA for: 

(i) Financial buyer. (3 marks) 

(ii) Strategic buyer. (4 marks) 
 

(c) Describe TWO drawbacks to using enterprise value to earnings before interest, taxes, depreciation and 
amortisation (EV/EBITDA). (4 marks)  
  

(d) Explain the term “Tobins q”. (3 marks) 
     (Total: 20 marks) 
 
 

QUESTION FIVE 
(a) In private company valuation, describe instances when the following valuations are applied: 

 
(i) Discount for lack of marketability. (2 marks) 

(ii) Discount for lack of control. (2 marks) 

(iii) Control premium. (2 marks) 
 

(b) An equity analyst gathers the following information: 
   

Long-term treasury yield  3.5% 
Beta 1.4 
Equity risk premium 6.0% 
Small stock premium 4.0% 
Company specific risk premiums 3.0% 
Industry risk premium 2.0% 
 
Required: 
Calculate the required rate of equity using the expanded capital asset pricing model (CAPM). (2 marks) 
 

(c) Highlight FOUR applications of equation valuation models. (4 marks) 

(d) The following financial information relates to Beth PVT Ltd. for the year ended 31 December 2020 and                          
31 December 2021: 
  2020 2021 
  Sh.“million” Sh.“million” 
Revenue   995 1,180 
Pre-tax accounting profit   210 265 
Taxation            63    80 
Profit after tax  147 185 
Dividends          50      60 
Retained earnings              97                                125 
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Statement of financial position for the year ended 31 December: 
 
     2020 2021 
  Sh.“million” Sh.“million” 
Non-current assets  370 480 
Net current assets  400 500 
   770 980 
Financed by: 
Shareholder’s funds  595 720 
Medium and long-term bank loans  175 260 
   770 980 
 
Pre-tax accounting profit is taken after deducting the economic depreciation of the company’s non-current assets 
(also the depreciation used for tax purposes). 
 
Additional information: 
1. Economic deprecation was Sh.95 million in 2020 and Sh.105 million in 2021. 
2. Interest expenses were Sh.13 million in 2020 and Sh.18 million in 2021. 
3. Other non-cash expenses were Sh.32 million in 2020 and Sh.36 million in 2021. 
4. The rate of tax was 30% in both years. 
5. Beth PVT Ltd. had non-capitalised leases valued at Sh.35 million in each year 2019 - 2021. 
6. The company’s pre-tax cost of debt was estimated as 7% in 2020 and 8% in 2021. 
7. The company’s cost of equity was estimated as 14% in 2020 and 16% in 2021. 
8. The target capital structure is 75% equity, 25% debt. 
9. Capital employed at the end of 2019 was Sh.695 million. There were no loans at that date. 

 
 Required: 

(i) Net operating profit after taxes (NOPAT) for financial year’s ending 31 December 2020 and                             
31 December 2021. (2 marks) 

(ii) Capital employed by Beth PVT Ltd. for each of the years 2020 and 2021. (2 marks) 

(iii) Weighted average cost of capital (WACC) of Beth PVT Ltd. for both years 2020 and 2021. (2 marks) 

(iv) Economic value added (EVA) of Beth PVT Ltd. for each of the years 2020 and 2021. (2 marks) 
    (Total: 20 marks) 

…………………………………………………………………………….. 
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CIFA INTERMEDIATE LEVEL 

PILOT 

EQUITY INVESTMENTS ANALYSIS 

December 2021. Time Allowed: 3 hours. 

Answer ALL questions.  Marks allocated to each question are shown at the end of the question. Show ALL your 
workings. 

QUESTION ONE 
(a) Outline four characteristics of a well-functioning securities market. (4 marks) 

(b) Consider an order driven system that allows hidden orders. The following four sell orders on Huduma Ltd. shares
are currently in the automated trading systems (ATS) limit order section:

Order Time the order was 
placed 

Limit price of the order 
(Sh) 

Special instructions 
(if any) 

I 9:52:01 am 20.33 
II 9:52:08 am 20.29 Hidden order 
III 9:53:04 am 20.29 
IV 9:53: 49 am 20.29 

Required: 
Based on the order precedence hierarchy, illustrate the precedence in which the four orders were executed. 

(6 marks) 

(c) Explain the five steps involved in equity valuation process. (5 marks) 

(d) (i) Explain the term “convertible preference”. (1 mark) 

(ii) Outline five advantages of convertible preference share an investor. (4 marks) 
(Total: 20 marks) 

QUESTION TWO 
(a) Julias Koech is an investment analyst at an asset management firm. Each year he provides his firm with a report

that includes a series of market forecasts. As part of his report, he uses the Grinold-Kroner model to forecast the
expected rate of return on equities for the next 10 years. He uses the data below to prepare his forecast:

Factor 10 year forecast (annualized) % 
Dividend yield 1.80 
Dividend growth rate 4.00 
Change in price to earnings (P/E) multiple 0.50 
Inflation rate 1.20 
Change in the number of shares outstanding -0.30
Real total earnings growth rate 2.50 

Required: 
Calculate the following sources of return for equities: 

(i) Expected nominal earnings growth return. (2 marks) 
(ii) Expected repricing return. (2 marks) 
(iii) Expected income return. (2 marks) 
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(b) In each case, explain two tests used to examine the following: 

(i) Weak form of efficient market hypothesis. (4 marks) 
 

(ii) Semi- strong form of efficient market hypothesis. (4 marks) 
 

(c) Explain three principles of technical analysis. (6 marks) 
                        (Total: 20 marks) 
 
QUESTION THREE 
(a) Distinguish between the following terms as used in industry analysis: 
 

(i) Growth company and growth stock. (2 marks) 

(ii) Defensive company and defensive stock. (2 marks) 

(iii) Cyclical company and cyclical stock. (2 marks) 

(iv) Speculative company and speculative stock. (2 marks) 

(b) Medina Ltd has a competitive advantage that will probably deteriorate over time. Flavor Tobiko expects this 
deterioration to be reflected in declining sales growth rates as well as declining profit margins. To value the 
company, Tobiko has accumulated the following information:  

 
1. Current sales are Sh.600 million. Over the next six years, the annual sales growth rate and the net profit 

margin are projected to be as follows: 
 

Year 1 2 3 4 5 6 
Sales growth rate 20% 16% 12% 10% 8% 7% 
Net profit margin 14% 13% 12% 11% 10.50% 10% 

 

2. Beginning in Year 6, the 7% sales growth rate and 10% net profit margin should persist indefinitely. 

3. Capital expenditures (net of depreciation) in the amount of 60% of the sales increase will be required 
each year.  

4. Investments in working capital equal to 25% of the sales increase will also be required each year.  

5. Debt financing will be used to fund 40% of the investments in net capital items and working capital. 

6. The beta for company is 1.10. The risk-free rate of return is 6% and the equity risk premium is 4.5%. 

7. There are 70 million outstanding shares. 

Required: 
(i) The estimated total market value of equity.  (10 marks) 

(ii) The value of Medina Ltd.’s share. (2 marks) 
                        (Total: 20 marks) 
 

QUESTION FOUR 
(a) An analyst is examining a private firm under consideration as an acquisition and determines the following:  

1. The current capital structure is non-optimal because the owner avoids the use of debt. 

2. A small stock premium and company-specific risk premium are determined because the private firm is 
much smaller and much less diversified than the public firms that beta is estimated from.  

3. The industry risk premium reflects the additional risk in this industry compared to the broad market.  
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The relevant figures are listed below: 
 

 Risk-free rate 3.6%  
 Equity risk premium 6.0%  
 Beta 1.3  
 Small stock premium 3.0%  
 Company-specific risk premium 2.0%  
 Industry risk-premium 1 .0%  
 Pretax cost of debt 9.0%  
 Debt/total cap for public firms in industry 30%  
 Optimal debt/total cap 12%  
 Current debt/total 3%  
 Tax rate 30%.  
 
Required: 
(i) The required return on equity using the capital asset pricing model (CAPM), the expanded CAPM and the 

build-up method.  (6 marks) 

(ii) The weighted average cost of capital (WACC) using the current capital structure and the optimal capital 
structure, assuming a cost of equity of 16%. (4 marks) 

(iii) Comment on the appropriate capital structure weights. (2 marks) 

(b) An analyst gathered the following data for Equifax Ltd.: 
 

 Recent share price Ksh.22.50 
 Shares outstanding 40 million 
 Market value of debt Ksh.137 million  
 Cash and marketable securities Ksh.62.3 million  
 Investments Ksh.327 million  
 Net income Ksh.137.5 million 
 Interest expense Ksh.6.9 million 
 Depreciation and amortization Ksh.10.4 million  
 Taxes Ksh.95.9 million   
 
Required: 
The enterprise value to earnings before interest, tax, depreciation and amortisation (EV/EBITDA) ratio for 
Equifax Ltd. (4 marks) 

(c) Examine two favourable arguments for and against enterprise value to earnings before interest tax depreciation and 
amortisation (EV/EBITDA). (4 marks) 

   (Total: 20 marks) 
 
QUESTION FIVE 
(a) Kawaida Ltd is expecting return on equity (ROE) of 15% over each of the next five years. Its current book value is 

Ksh.5.00 per share, it pays no dividends, and all earnings are reinvested. The required return on equity is 10%. 
Forecasted earnings in years 1 to 5 are equal to ROE times beginning book value. 
 
Required: 
(i) The intrinsic value of the company using a residual income model, assuming that after five years, 

continuing residual income falls to zero. (3 marks) 

(ii) The intrinsic values of the company using residual income, assuming that after five years to assuming that 
the residual income remains constant at Sh.0.44 forever. (3 marks)  

(iii) Assuming that after Year 5, Kawaida's residual income will decay over time to zero with a persistence 
factor of 0.4. Determine the new intrinsic value of Kawaida. (3 marks) 

(iv) Suppose that at the end of Year 5 Kawaida's ROE falls to a long-run average level and the price-to-book 
ratio falls to 1.2. What will be the intrinsic value? (3 marks) 
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(b) Amlex Ltd is a large manufacturer and distributor of packaged consumer food products. James, a buy-side analyst 
covering Amlex Ltd, has studied the historical growth rates in sales, earnings, and dividends for the company, and 
also has made projections of future growth rates.  James expects the current dividend of Sh.1.10 to grow at 11% 
for the next five years, and that the growth rate will decline to 8% and remain at that level thereafter. James feels 
that his estimate of the company’s beta is unreliable, so he is using the bond yield plus risk premium method to 
estimate the required rate of return on the stock. The yield to maturity of Amlex’s Ltd long-term bond (6.27% of 
2021) is 6.67%. Adding a 4.0% risk premium to the yield-to-maturity gives a required return of 10.67%, which 
James rounds to 10.7%.  

Required: 
Determine the stock value using the Two-Stage Dividend Discount Model.   (8 marks) 
  (Total: 20 marks) 

……………………………………………………………..……….. 
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CIFA INTERMEDIATE LEVEL 
 

EQUITY INVESTMENTS ANALYSIS 
 
WEDNESDAY: 3 August 2022. Morning paper. Time Allowed: 3 hours. 
 
Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.  
Do NOT write anything on this paper. 

 
QUESTION ONE 
(a) Explain three types of market structures based on execution mechanisms. (6 marks) 

 
(b) Stephen Mwaweza buys stock on margin and holds the position for exactly one year, during which time the stock 

pays a dividend. Assume that the interest on the loan and the dividend are both paid at the end of the year.  
 

Purchase price Sh.20 per share 
Sale price Sh.15 per share 
Shares purchased 1000 
Leverage ratio 2.5 
Call money rate 5% 
Dividend  Sh.0.10 per share 
Commission  Sh.0.01 per share 
 

Required: 
The total return on this investment.  (4 marks) 
 

(c) Tim Limited’s competitive advantage is expected to deteriorate over time. Evans Karani, an equity analyst for the 
company expects this deterioration to be reflected in declining sales growth rates as well as declining profit 
margins. To value the company, Evans has accumulated the following information: 
 
1. Current sales are Sh.600 million. Over the next six years, the annual sales growth rate and the net profit 

margin are projected to be as follows: 
 

Year  1 2 3 4 5 6 
Sales growth rate (%) 20 16 12 10 8 7 

Net profit margin (%) 14 13 12 11 10.50 10 
 

Beginning in year 6, the 7% sales growth rate and 10% net profit margin should persist indefinitely. 
2. Capital expenditures (net of depreciation) equal to 60% of the sales increase will be required each year. 
3. Investment in working capital equal to 25% of the sales increase will be required each year. 
4. Debt financing will be used to fund 40% of the investment in net capital expenditure items and working 

capital. 
5. The beta for Tim Limited is 1.10. The Treasury bond rate of return is 6% and equity risk premium is 

4.5%. 
6. There are 70 million shares outstanding. 

 
 Required: 

(i) Cost of equity.  (1 mark) 
 

(ii) Free cash flow to equity (FCFE).  (6 marks) 
 

(iii) The value of the firm. (3 marks) 
   (Total: 20 marks) 
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QUESTION TWO 
(a) In relation to industry analysis, develop a five step approach to be followed while constructing a preliminary list of 

peer companies. (5 marks) 
 

(b) John Weru is valuing the ordinary shares of Diamond Ltd. as at 31 December 2021, when the book value per share 
is Sh.10.62. He has made the following assumptions: 
 

1. Earnings per share (EPS) will be 20% of the beginning book value per share for each of the next three 
years. 

2. Diamond Ltd. will pay cash dividend equal to 40% of EPS. 
3. At the end of three years, Diamond Ltd. ordinary shares will trade at four times its book value. 
4. The beta for Diamond Ltd. is 0.7, the risk free rate is 4.5% and the equity risk premium is 5.0%. 

 
Required 
The value per share of the firm using residual income model.  (9 marks) 

 
(c) Describe two challenges encountered in the implementation of appraisal standards used in valuing private 

companies.   (2 marks) 
 

(d) A financial analyst has gathered the following information for a private firm: 
 
Working capital Sh.600,000 
Non-current assets Sh.2,300,000 
Normalised earnings Sh.340,000 
Required return for working capital 5% 
Required return for non-current assets 13% 
Growth rate of residual income 4% 
Discount rate for intangible assets 18% 

  
 Required: 
 The value of the firms using the excess earnings method (EEM). (4 marks) 

 (Total: 20 marks) 
 

QUESTION THREE 
(a) Describe three applications of equity valuation.  (6 marks) 

 
(b) Explain the following terms as used in equity valuation:    

 
(i) Liquidation value.  (2 marks)   

 

(ii) Investment value.  (2 marks)   
 

(c) Bee Ltd. had an earning per share (EPS) of Sh.2 in the year 2021. The earnings in the year 2022 without the 
additional planned investments are expected to remain at Sh.2. 
 
The retention ratio is 0.70. The company is expected to earn a return on equity of 15% on its investments and the 
required return is 12%. Dividends are paid at the end of the year. 
 
Required:  
The present value of growth opportunities (PVGO).  (6 marks) 
 

(d) Damco Ltd. has just paid a dividend of Sh.2.57 per share. Dividends are expected to grow by 12% for the next two 
years and by 8% the year after that. From the fourth year, the dividends are expected to grow at a rate of 6.2% 
indefinitely. The required rate of return is 7.2%. 
 
Required:  
The current value of the company’s share using Gordon Growth Model. (4 marks) 

   (Total: 20 marks) 
QUESTION FOUR 
(a) Evaluate the following technical analysis indicators:   

 
(i) Price-based indicators.  (2 marks)   

 

(ii) Momentum indicators  (2 marks)   
 

(iii) Sentiment indicators.  (2 marks)   
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(b) An investor considering the enterprise value approach to valuation gathers the following data: 
 

  Sh. Million 
Earnings before interest, tax, depreciation and amortisation (EBITDA).    25 
Value of debt         40 
Value of preferred shares        12 
Cash and marketable securities       3.5 
Number of ordinary shares outstanding 7.5 million 
Firms tax rate 30%. 
Appropriate enterprise value (EV)/EBITDA multiple   =   4x 
 
Required:  
(i) The value per share of the company’s ordinary shares using the enterprise value approach.          (4 marks) 
  
(ii) Highlight two limitations of using enterprise value to earnings before interest, tax, depreciation and 

amortisation (EV/EBITDA).   (2 marks)   
 

(c) Pendo Ltd. has existing assets which have a book value of Sh.2,431,000 and a gross cash flow of Sh.390,000. The 
expected salvage value is Sh.607,800 and a life of 10 years. The real cost of capital is 8%. 

 

Required:  
The cash flow return on investment (CFROI) of the firm. (4 marks) 
 

 

(d) A minority shareholder holds 10% of a private firm’s equity, with the Chief Executive Officer (CEO) holding the 
other 90%. Using normalised earnings, the value of the firm’s equity is estimated at Sh.20 million. The CEO 
refuses to sell the firm and the minority shareholder cannot sell their interest easily. A discount for lack of 
marketability (DLOM) of 15% will be applied. A discount for lack of control (DLOC) is 0%. 
 
Using reported earnings instead of normalised earnings provides an estimated firm equity value of Sh.19 million. 
 
Required:  
The value of the minority shareholder’s equity interest. (4 marks) 
    (Total: 20 marks) 

 

QUESTION FIVE 
(a) Outline four assumptions of efficient capital market hypothesis. (4 marks)   

 
(b) Explain two sets of tests used to examine each of the following: 

 
(i) Weak form of efficient market hypothesis.  (2 marks)   

 

(ii) Semi-strong form of efficient market hypothesis.  (2 marks)   
 

(c) As an equity analyst, explain four elements of a company analysis.   (4 marks)   
 

(d) Dawa Pharm Ltd. belongs to the Animal drugs industry and Beta Computers Ltd. belongs to the applications 
software industry. The following additional information has been provided: 
 

 Book value of 
equity, 2021 

Sales 2021 Share outstanding 2021 Price 

Company Sh.“million” Sh.“million” Sh.“million” Sh. 

Dawa Pharm Ltd. 19,950 32,373 6,162 31.37 

Beta Computers Ltd. 61,020 32,187 10,771 25.63 
 
 

 

Peer Industry Mean P/B Median P/B Mean P/S Median P/S 

   Sales in Sh.“million” Sales in Sh.“million” 

Animal drugs 5.622 4.250 8.708 4.530 

Application software 4.100 2.140 3.420 1.440 
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 Where  P/B – Price-to-book ratio 
  P/S – Price-to- sales ratio 
 

Required:  
Calculate:       

(i) Price-to-book ratio for Dawa Pharm Ltd. and Beta Computers Ltd.  (4 marks)   
 

(ii) Price-to-sales ratio for Dawa Pharm Ltd. and Beta Computers Ltd.  (4 marks)   
    (Total: 20 marks) 

…………………………………………………………………………….. 
. 

www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e



www.ch
op

i.c
o.k

e


	Equity Investments Analysis1
	EIA (4)
	EIA (3)
	EIA (2)
	EIA

	Equity Investments Analysis
	CF23 Equity Investment Analysis - Pilot Paper
	CF23 Equity Investments Analysis
	CF23 Equity Investments Analysis
	CF23 Equity Investments Analysis
	CF41 Equity Investment Analysis
	CF41 Equity Investment Analysis
	CF41 Equity Investments Analsysis
	CF41 Equity Investments Analysis
	CF41 Equity Investments Analysis
	CF41 Equity Investments Analysis
	CF41 Equity Investments Analysis
	CF41 Equity Investments Analysis
	CF41 Equity Investments Analysis
	CF41 Equity Investments Analysis
	CF41 Equity Investments Analysis
	CF41 Equity Investments Analysis
	CF41 Equity Investments Analysis


